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Before 3 years mohit is 4 year younger then Rahul. After 4 years
Rahul will be 5 year younger then Ankit. If present age of Mohit is

30 year old. What is present age of Ankit ? .
3 HTdl Ueel AR Tgel A 4 Wl BIET § | 4 AT a16 Tgel Afhd § 5 WA

BIET BT | 3R AT F AT hY 337 30 a8 & g 3 3ifpa Hr 35
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Before 5 years Gagan is 5 year elder than Rahul. After 6 years
Rahul will be 7 year elder than Ankit. After 8 years Ankit will be 7
year elder than Mohit If present age of Mohit is 50 year old. What is

present age of Gagan ?

_5 HTel Ugrel IT Tgel § 5 HIA 93T &1 6 IV A1 gl 3Hfehed { 7 a9 31
1T | 8 ¥ g JHfehd AR / 7 ¥ T=7 g A & FAATA HTY 50
qy ¥ | 9T &Y TAATA e?

K‘Cm
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A man is 3 years older than his wife and four times as old as his
son. If the son becomes 15 years old after 3 years, what is the
present age of the wife?

Teh HTEHT HU! Uil & 3 |l I37 & 3R TS 9 | 4 A1 I37 1 I g 3
qy & A1 15 IV T B SATAT &, A Tl Y TAAT Y T 62

(@) 60years (b) 51years
(c) 48 years %45 years

Download RG VIKRAMJEET application for complete course.



00)7 1A A AREASONINGERILS AR R Ao 3] sy VIKRAMJEET SIR

Ashok’s mother was 3 times as old as Ashok 5 years ago. After 5
years she will be twice as old as Ashok. How old is Ashok today?

5 AT gl 7T T AT 31Mp A 3 I[AT I3 AY| 5 [1eA Al T AP J QAT
3H &Y B AT | WS AT fhdal AT R 6?

(@) 10years (b) 15years

(c) 20years (d) 25years
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Hari is twice as old as Johnny) who is three years older than

Rahul. If Hansage |s five times Rahul's age, how old is Johnny?
BR, aﬁﬁﬁaﬁg—n ?@Eﬂammgmzﬂzﬁrmr@mﬁr
5 § Ui I 58 el &2

(@) 2years (b) 4years
(e 5years (d) 8years

H-27
T-R=3 HR= %3
L5Y 4
23‘:5(3-1):) >3 =538

37-1€ 3=5]
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A father's age is one year more than 5 times of his son’s age. After
3 years, the father's age would be 2 year less than four times the

son's age. Find the present age of the father.
Teh T &Y Y 3/ JF H JG & sgav@m’cﬁa&m%l 3 |l &
are, ar & 37 A2 B 37 & TR IAT 8 2 J1 HA areir | e H ada =

Y AT Hifaw|
4d) 30years (b) 40 years (. gx6T)

(c) 31years (d) 29years = RO%|

=S Sont G330

_/{21"5::\ (.Sov\-l-z);l

“ = Ben o 1 =leL Son= 6
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The age of a father is twice that of his son’s at present age. After 5
years the sum of their ages will be 85. How old are they now?

Ueh T &Y 3H 38 9 W QI & | 5 |l 91 Siehl 33 &1 19T 85 7
SITTaT | & 3« fohda |1l & &2
(@) 40,20 (b) 26,76

(c) 60, 30 (d) 50,25 C=2 So
\: T _S°h=
(:: D Sew —_ - N
~$°h=2$on’7s
(F+S)+<sah+s _gc =1
F+S0V\ :75 Juke e 2H
F:.zxz.s—:
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'X' and her grandfather differ in their ages by 50 years. After 6 years,
if the sum of their ages is 152, their present ages are

X *3HR 38 greTsit &Y 37 A 50 Al 8 A &1 6 Tul & 915, AT 37ehr 31
&1 NIT 152 &, AT SeAeh! TAATA 3G &
(@) 24,74  (b) 26,76
e) 45,95  (d) 25,75

&\-f.—x = 5B

8 LGb= 1Mo Q"F'+6) 1-<>(-; 6) = 1§
C-,.F:D__?_ G- F "‘)(;MD

2 \é)g “')( = Sp h.F. = as alg’-—go
:—@ 2 G = 190 g
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In a family, mother's age is twice as that of daughter's age. Father is
10 years older than mother. Brother is 20 years younger than his

mother and 5 years older than his sister. What is the age of the father?
Teh UREAR H, AT H 37 AT Y 337 | QT Bl &1 A A1/ 10 a1er 92§

HTS T AT H 20 el BT AR AT T8 A 5 Tl T37 & | Tar hr 37 = 82
(@) 62years (b) -B0years M. D

(c) 58years (d) 55years
; P J\/\ : D= _2_5-

ICES
—M - S
&) ""S- ’ :lbdl(
el 2 ) 3 D=2
. n" | 25 & 1)
D — > C
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A father tells his son, "l was three times of your present age when
you were born.” If the father's present age is 48 years, how old was

the boy 4 years ago?

e R 370 a8 W FedT &, "4 AT day gU A @Y 3F 3T aAT 3 P
it 3T AT|" I T Y gt A1 48 I ¥, 4 WIS Ul a5 H 38

At ?
(@) 24years (b) 8years
(c) 12years (d) 16 years Com-Y= 12-4 :
E/ — b\ Son ; Do = X ‘
—_— X =
15 = 5x Sou B \jx
5@ | [Foi
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Amit was born 5 years before Rakesh, Rakesh is 3 years younger to
Anil. If Amit is now 17 years old, how old is Anil?

HTAT BT A JHA W 5 T Ugel ST AT, AHA ATAT A 3 Tl DIer ol
mmﬁamwmzﬁrt,améaﬁmﬁmw%?

(@) 8years (b) 12years
ey~ 15years (d) 19years

1 s //’\hf\lt =
(19— And >
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X is four years older than@who is twice as old as Z. If the total ages
of X, Y and Z be 34, how old i
X,YVAaRagasre N Z A IR X, YIRZHA FA Mg 34 8, At
(X fectet g &2
(@) 8 (b) 10

(c) 12 % 16

_ L . -
)(—“\:.\1 y— L 2 >""—£ =~ T
Y= X-4 Yt = Y
L K Mel o
Lo 39 X +(X~\D+Qw\1>;3ﬁ
MX+X-y =16 2

Sx=9omEE = 16
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A father said to his son, "l was as old as you are at the present at
time of your birth". If the father's age is 52 years now, then the
son's age 8 years back was
TH AdT o 3T ¢ | &, ﬁmm&?mmﬁg T
TSI 1T adaTer 3 §1" 3R Far i 337 3a 52 |1 8, O 9 Hr A
8 HTeT Ugel Tehcielr AT

(@) 10years (b)/18 years
(c) 12years (d) 20years
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The sum of ages of mother, daughter and son is 87 years. What will be

the sum of their ages after 8 years?

AT, Y 3T I &Y TG T AT 87 a¥ & | 8 TV AT SeTeht HTY T J1IT FAT FIM?
(@ 101 (b) 110

y/m (d) 105
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The sum of the ages of a father and his son is 45 years. Five
years ago, the product of their ages was 34. The ages of the son
and the father are respectively:

mﬁmmmg}fmgmuaﬁ%lmmm,mw
y I : o
EﬁT?IUlT 4§2mg'=r % Wr ,%«“ P

A) 6 and 39 B)7and38  C)9and 36 D) 11 and
34 \, V
K M f + Sow=YgS

© () (89 o
i -
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Q. A person was asked to state his age in years. His reply was, “Take
my age three years hence, multiply it by 3 and then subtract three
times my age three years ago and you will know how old | am.’ ” What
was the age of the person?

Teh hfth I U1 A YA 3H TAT & ToIT el AT AT| SAhT o AT, A
I AT g areg o &, 38 3 F o H AR R e v oee A @raﬂa
I[AT &Y TETT IR HTUDY TaT T e foh 3F fovaelt 33 #1 g1 =afh

a1 Ar?
A) 18 years B) 20 years C) 24 years D) 32 years.

3(Xt3) -2 (x- 3) X
2K+ 2K +9 =
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Q. If 6 years are subtracted from the present age of Gagan and
then divided by 18, then the present age of his grandson Anup
is obtained. If Anup is 2 years younger to Madan whose age is
5 years, then what is Ga:gan’s present age?

I Y IAATA 6 IY HEIT I & 3R Y 18 & faenfaa
ferar STaT &, aY 38 QI 3T Y IdAT AT UTH Bl ¢ IS 3y
HeA | 2 9 OIeT &, TSt 3 5 av &, oY IR Y I Iy

AT ? G-6 _ p-3
A) 48 years ) 60 years — =
C) 84 years D) 96 years |5
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Q. Q is as much younger than R as he is older than T. If the sum of

the ages of R and T is 50 years, what is definitely the difference
between R and Q’s a

e?
Q, RAJTATE BT S Sidar ag THA T3 %1 IE R AR T Hr g &
e 50 a9 ¥, af AT ®7 & R 3R Q &Y 317 3 41 AT 82
(A) 3 year

(B) 5 years %3 26 39 5 R-Q = Q-T
(C) 7 years .
By Data inadequate Kk (S' K‘TT = 2 &
(E) None of these 1S ,\1 SO = L5
TRY 22K
& KZc> @
Q 22 — |-
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Q. 6 years ago, mother’s age was 18 years more than the son’s
age. If the sum of their present ages is 30, what was the age of the
mother 6 years back?

6 TS Ugel, AT &Y 37 A &Y 37 A 18 Wrel AU AY| AT 3a7ehr gt
TG T AT 30 A9 §, &Y 6 ¥ Ugel ATAT Y HY fovcten A2

(a) 10 years

(b) 12 years M = Sew = |t

(c) 16 years _
(d) 18years—” M + S~ = 3o
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. The present age of a father is three times that of his
elder son. Four years hence, the age of the father will be
four times that of his younger son. If the difference be-
tween the present ages of the elder and younger child is

6 years, what is the present age of the father?

fUar st aauT™ 31y ST &g YA | I T §1 WR 96l & arg, fuar @t
Y, 3H& B U7 ¥ 9 T 31 T I 92 47 317 B qF &
AU 3T T 3T 6 99 &, af fuar st gaa g fehast 872

(a) 38 years @ F=35 (b) 42 years

(c) 32 years((FT1:1(511) (d) 36 years.—
S-ha=6 S F=3(6+S)[SSC CGL 16/08/2021]
S\: 6+SL M iy 2 $,=6




